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Passage:

Tapa:— Sreffiiad et ufdar gyl fas e raR: Ifraans W farn forad|

IRayfaied e Faraaro: Joer yafd | Tgiaaisadmanag=: WaTO: T auue=: safad Jafd IRAayfieT| sHeyr aigasrioT
FHADGRIV T TFIQH TR 9 Hafd 38 4 | IS ATRIRIOT TAAA S SEIUGHASHa-d: d HANIRINT: HYHIER: Awilid a7 |
YHHRGAY I RISb el SSFEHAl: T i~ | AHIvEH: ARSI Salatc: S SarRsyIor aiffisa= | HaY AHUGArT IRy SRIgRTa
MY YadqE 9 ddd | O ST SRS UFTadT SadrRiEmont yaf~l | IRdaearediir sfa Ui sudfd, Sicargy, wHgy sadi
SSFH AN IFUAISh S ARy IraHdf~I| Tart HaFi SRl gup Aiiedl 9 fded | Auafae= arrfiacH 9gan 9 SHIM $areanl sigarii|

PUMEH Fligdd URARTA! I=E: Jid PRI | - i Hafd AHdeRTok: | IR1ST FeeeRaew gaief faRfd: Yafd | SiTaR™u goladreyr:
Fuiqui FRISTI add | Hia AHdeT GEAY: SEHUIN: SAdRSGUTIRG/A: fohad |

STAR:, DIATHGAH, JADIS], Hae, WAdRY, IUgey, fAfdeasd, WIRIGUH ST AT SFHUT: | YFTdaH, AGIHRAH, TRATH SANGURIT
Il FORY THYE)

Q.No: 1 Hgiduigadanagi: Hieg: Hdid?

A HETGETS: |
B RiltsIcaicad!
c ETEFR: |

D T |

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Hara:— Sreifaiad et ufd@r uami fapearde e Ifraaas Iw K forad|

IRy afad: FaEaRo: Yo yal | Tgiaaisasanag=: Wama]: T aug=: safad wafa dReayfiie| ey JigaeRrior
HADGRIVT T ST STeId I Hafd 39 Y | FRATBATRERIT FHAAG SeUIGHAGHa: 1P HATART: HYDHATET: Txifa & Iad|
PRGN T HHAl: SASHGn: 9 i | IS d: TRAdedr: 3aliatic: S HaR=Tror aiffoha-d | By AHvbarT RO SfagRrda-
S YadHH I acld | dI BT SRS YRG! SadriaTon Haf-<t | IRAasaR=uTor 3fa Ui sysia, sfearsy, FOMEY sk
IFFH AN IFTASP SRy draqal~I| Tart Hari SRl g e 9 (e | Auafaum= arriiacH Tgane 9 3 Sareanol s@ard-|

FUMER e URATRI I Tdd HORTTT | T Tl Hafd AFdES: | TRIST TIeRRIqH gaid farfd: yafd | MAaRroRT $omadRSGUR:
Fruiqui JRISTRF add | HfaT AFdeT TETi: EHUT: SAaRSGUTIRG/: fohad |

JTAR:, PIATACAY, ITHIST, HayH, WARH, TS, fafagaus, RG] ST T~ SEHYL: | UFTadq, TEIHRAH, TR JAMIRIN
IUeield FORTT FHHTA|
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Q.No: 2 YPURBURY TGUATDDUL: ..vveereeverrennns GRS

A i et: |
B TR |

C SRS |
D SN

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Toba:- SteNfafad TRl ufdar uyHi fdsrderg: Idary 3w forad|

PRy fafad: Sargaro: gamEr yafdl ﬂﬁmﬁﬂwﬁ’sﬁ:{: HIATAY: Y IAUEH: s«ifc?d rfafd B[S By AIigABRIvN
HABRIVT I THQA IR T Yafd 58 Yl | FRAISATRIRIVT FHAAP SeUICHAGHA: A DANAAT: HUBATET: Tl AT TR |
FJHARGAY IGHASh B SSHG: T Tl | ATHUG: IMRAIHAr: JAGHG: 3 HARSUI FHfha | HIAY ATHUGAA RIS SfgRTa
Y FadTH 9 acdd | dT BT ARSI HRTTAT SadriHTon- Haf-<T | IRdAasarauTol sid TR sysia, gicarey, $OMEY sk
SSHH AR IS Hary Iravafd| Tart Sart SfadR0 gyd difed = fagd | Auafae™e drerideEl Tgaie 9 3HiH SaRsgil Sadri-d|

PUMEH Afgda IR I~: add HORTTT | T Sl Hafd AFdES: | FRAISY TeRRIdH S gdid faRfd: yafd | SraRrERg $umadRSUr:
Frguiauie RIS ddd | BiaT AFde GoiY: SwHU: SaarRBUTIRd(d: fhad|

STAR:, DIATAGTH, IRAHIS], HUFHT, TR, UGS, fAfdeayd, TWRIGUH ST Tl SIFHUT: | HNdaH, AIHRAH, BRI JANGURIT
IUeheld FURTT THHT|

Q.No: 3 PUHEH g URARMI J~: &: dcld?

A e |
B Mamfaem)
C HOR

D FUNTHH|

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hara:— Sreiferiad et ufda@r usmi fasedide v Ifiaany I e forad|

Fayfiie fafad: FaaarRe: gorT=T Yald | Sy iaaieddadg: HaTdy]: JoauuR: dfad ariafd SxaayfieT| sHa Sieasril
HADBRIVI ° ST ST T Hafd 38 1Al | SFRAIHARIRIT FHIGAG JSTUGHAG T 1 HATARIT: HUDGE: Tl ST R |
PRGN I TASIHHal: SSHEHn: ° Aiwd | AHvEd: TRdedr: sanfede: S HaRsgIor aiifosdw | By v IR SfagRrda-
S YadH 9 add | ai SR SRS YRTTAT SadRHTNH Haf-<T | IRAFeaRagIr sid uRisi sysid, $icaey, SUAEH A
SENFH AR IFUAIShH ARy Iraqaf~T| Tart Hemi SadaRl g A @ 3| Suafayme arriiardar ggani= 9 g sareain sigari=

PUFEH Afgda URARd I ddd ORTTT | a&1 Fal Hald AFERTIS: | IRI1ST TeieRRIde® gaie farfed: Hafd | SaeaR™ue $uradreyr™r:
Trguiquie RIS acid | BiaT AMaeT gem: SEeUTiy: saaRayTIRgfa: fhad |

SIAR:, BIAIHEA, IHIS], HHaYH, WARY, TG, [Afdgaus, WIRIGUH SAA: Fi~T S| HFTGdH, HEIHRAH, SRAIH JAMGII
Uil HORiifa gavad)
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Q.No: 4 HHAST GBATY: Bidpyifi: SadReUTIRf: fhad?

A SE|

B Hq1

C AR
D S{PIEXII

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Toba:- SeNfafad TRl ufdar uyHi fdeardeg: Idaray 3w frar forad|

PRy fafad: Sargaro: gamEr yafdl ﬂﬁmﬁwﬁeﬁ?z HIATAY: Y IAUEH: s«ifc?d rfafd B[S By AIigABRIvN
HABRIVT  THQA IR T Yafd 58 Yl | FRAISATRIRIVT FHAAP SeUUCHAGHA: A DANAAT: HUBATET: Tl SavT TR |
FJHARGAY IGHASh B SSHG: T Tl | ATHUG: IMRAIHAr: JAGHG: 3 HARSUI FHfha | HIAY ATHUGAA RIS SfgRTa
Y FadTH 9 acdd | dT BT ARSI HRTTAT SadriHTon- Haf-<T | IRdAasarauTol sid TR sysia, gicarey, $OMEY sk
SSHH AR IS Hary Iravafd| Tart Sart SfadR0 gyd difed = fagd | Auafae™e drerideEl Tgaie 9 3HiH SaRsgil Sadri-d|

PUMEH Afgda IR I~: add HORTTT | T Sl Hafd AFdES: | FRAISY TeRRIdH S gdid faRfd: yafd | SraRrERg $umadRSUr:
Frguiauie RIS ddd | BiaT AFde GoiY: SwHU: SaarRBUTIRd(d: fhad|

STAR:, DIATAGTH, IRAHIS], HUFHT, TR, UGS, fAfdeayd, TWRIGUH ST Tl SIFHUT: | HNdaH, AIHRAH, BRI JANGURIT
IUeheld FURTT THHT|

Q.No: 5 3T - 3F F: TRY:?

A ORI |

B G|

c FauRfidarR:|
D Uk |

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hara:— Sreiferiad it ufd@r usmi fasedide v Ifiaans I e forad|

Fayfiie fafad: FaaarR: garT=T Yafd | Sy iaaieddadg: HaTdy): JoauuR: sdfad ariafd SxaayfiieT| sHa dieasrir
HADBRIVI ° ST ST T Hafd 38 1 | FRAIHARIRIN FHIGAG JSTUGHAG T 1 BATARIT: HUDTE: Tl ST R |
PRGN I TASIHHal: SSHEHn: ° Aiwd | AHvEd: TRdedr: sanfede: S HaRsgIor aiifosdw | By v IR SfagRrda-
S YadH 9 add | ai SR SRS YRTTAT SadRHTNH Haf-<T | IRAFeaRagIr sid uRisi sysid, $icaey, SUAEH A
SENFH AR IFUAIShH ARy Iraqaf~T| Tart Hemi SadaRl g A @ 3| Suafayme arriiardar ggani= 9 g sareain sigari=

PUFEH Afgda URARd I ddd ORTTT | a&1 Fal Hald AFERTIS: | IRI1ST TeieRRIde® gaie farfed: Hafd | SaeaR™ue $uradreyr™r:
Trguiquie RIS acid | BiaT AMaeT gem: SEeUTiy: saaRayTIRgfa: fhad |

SIAR:, BIAIHEA, IHIS], HHaYH, WARY, TG, [Afdgaus, WIRIGUH SAA: Fi~T S| HFTGdH, HEIHRAH, SRAIH JAMGII
Uil HORiifa gavad)
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Q.No: 6 IUeliadd - Yewye ferad|

A 3 + Sl
B Iuehi+ Aql

C IuelieT + Tdl
D IUeitc+ 54l

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Toba:- SeNfafad TRl ufdar uyHi fdeardeg: Idaray 3w frar forad|

PRy fafad: Sargaro: gamEr yafdl ﬂﬁmﬁwﬁeﬁ?z HIATAY: Y IAUEH: s«ifc?d rfafd B[S By AIigABRIvN
HABRIVT  THQA IR T Yafd 58 Yl | FRAISATRIRIVT FHAAP SeUUCHAGHA: A DANAAT: HUBATET: Tl SavT TR |
FJHARGAY IGHASh B SSHG: T Tl | ATHUG: IMRAIHAr: JAGHG: 3 HARSUI FHfha | HIAY ATHUGAA RIS SfgRTa
Y FadTH 9 acdd | dT BT ARSI HRTTAT SadriHTon- Haf-<T | IRdAasarauTol sid TR sysia, gicarey, $OMEY sk
SSHH AR IS Hary Iravafd| Tart Sart SfadR0 gyd difed = fagd | Auafae™e drerideEl Tgaie 9 3HiH SaRsgil Sadri-d|

PUMEH Afgda IR I~: add HORTTT | T Sl Hafd AFdES: | FRAISY TeRRIdH S gdid faRfd: yafd | SraRrERg $umadRSUr:
Frguiauie RIS ddd | BiaT AFde GoiY: SwHU: SaarRBUTIRd(d: fhad|

STAR:, DIATAGTH, IRAHIS], HUFHT, TR, UGS, fAfdeayd, TWRIGUH ST Tl SIFHUT: | HNdaH, AIHRAH, BRI JANGURIT
IUeheld FURTT THHT|

Q.No: 7 & o1 Fravfafar

A Eicail
B HicaEq]
C eHH|
D FUAEHI

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hara:— Sreifeiad it ufda@r usmi fasedide R Ifiaans I e forad|

Fayfiie fafad: FaaarR: garT=T Yafd | Sy iaaieddadg: HaTdy): JoauuR: sdfad ariafd SxaayfiieT| sHa dieasrir
HADBRIVI ° ST ST T Hafd 38 1 | FRAIHARIRIN FHIGAG JSTUGHAG T 1 BATARIT: HUDTE: Tl ST R |
PRGN I TASIHHal: SSHEHn: ° Aiwd | AHvEd: TRdedr: sanfede: S HaRsgIor aiifosdw | By v IR SfagRrda-
S YadH 9 add | ai SR SRS YRTTAT SadRHTNH Haf-<T | IRAFeaRagIr sid uRisi sysid, $icaey, SUAEH A
SENFH AR IFUAIShH ARy Iraqaf~T| Tart Hemi SadaRl g A @ 3| Suafayme arriiardar ggani= 9 g sareain sigari=

PUFEH Afgda URARd I ddd ORTTT | a&1 Fal Hald AFERTIS: | IRI1ST TeieRRIde® gaie farfed: Hafd | SaeaR™ue $uradreyr™r:
Trguiquie RIS acid | BiaT AMaeT gem: SEeUTiy: saaRayTIRgfa: fhad |

SIAR:, BIAIHEA, IHIS], HHaYH, WARY, TG, [Afdgaus, WIRIGUH SAA: Fi~T S| HFTGdH, HEIHRAH, SRAIH JAMGII
Uil HORiifa gavad)
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Q.No: 8 FURNAURRG Fdl F:?

A aea: |
B Tz
C AR |
D USRI |

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Toba:- SeNfafad Teni=i ufda@n uy Aeeraes: IRaay Sw e fied|

O fg Fder: Uad: god: wall
TUrgEdl RIS AR T H: 11

Q.No: 9 "TUINg" SR |iRH fobe?

A 3fe gf:
B oy JR:

C qfs: gf:
D o1 9

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hara:— Sreiiforiad werst ufdan vt A ediare e Sfaaaq S fadr |

‘I@@E%W: Uqd: Elﬁa: Hall
TorgaRl SREISTY AR T 11

Q.No: 10 IuRRIRAT zae 3™ UerH af ?

A 3
B 4
c 5
D 6

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hara:— Sreiferiad uerist ufdan uyHi s eqrare: SfEaaad I fudr foradl
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O g Fder: uad: god: el
TURgEdl GRS AR T 11

Q.No: 11 TlHIIHR T2V el $F Uad P ?

A oy
B oy .
c Ty
D foay

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Hara:— Sfefeiad u=lis ufden el fabeqrare: SfEaaay I fad faad|

o fg Fder: yad: ged: wall
TorgaRT GREISTY AR Tm: 11

Q.No: 12 'gRaIs o ¥k %2

A &Y IR
B &%y Gy
C R B
D o7 SR

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Taba:— SreNfariad Teni=t ufda@n warr s cdeemrg: Ifraaaq S far forad|

Toraq fg e wad: gey: el
TorgaR SREISTY 4RO T 11

Q.No: 13 TURgel HISTU SHT0: T: ¥ 2

A aRs:
B Y
© ok

D qgr:

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:
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Hara:— Sreferiad ueris ufdan s fasedrare: SfEaady I fudr forad|

Torad fg ddfer: yad: gen: wall
TUrgEl RIS AR T 11

Q.No: 14 ' U UIg: UTay: F:?

A B YUTq:, TYI:
B DHUI:, TIHTT:

(o) DYMG:, THdHEY:
D I GECA AR

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hopc:— RIS ==l ufdar Uy f[Adedrd® aed: Sfaaad] 3w fawr faad|

g@@a%aﬁfw: ad: %a: HaTl
TR SRS AR Tw: 11

Q.No: 15 iihsfH T ©-au: H SR ?

A T T
B EECEll

c IRY:

D Iy

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 16 JfGH=): IR0l AT -

A TETE:

B PHET
6 Sasdy

D CERLE

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 17 FSRIF®! Ul B W2

A TIGRIFE
B g

C WY-qaag
D FAFIIY

Correct Ans : D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Subject : Sanskrit Bhasha 02

Q.No: 18 sfEifafaa™ aren wgared uRacf<m |

AT 37 3fie: Jead|
A AT 37 e U= |
B T 32 i Tafd|
C AT 3 Sie Tl
D T $fE] SfieeH U=

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 19 gHUe: 3fd Uewr Tgfd faug-ared fa?

A T e
B TUMT: Te:
c BY: T

D BH: U

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 20 HIWITHRG HINTSH® 9 9<H &l Ifad: raHifaar s
A Fiep TR HTSTRRTHRG T TN Hd HeauUibRSGY S

B TSl fafeidedT: ArquNTET Haf~
c ISR Halft SigdTeed Aieray 7 Hafd
D YTSTSI TTUTes Gl HTSTRTH: TEmIgu: yafdl

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 21 %9: g -

A UTaR R foaTomy smiter = wafd

B PIST AT EFUI0N YIGEUIN 9 - GHaT Hafd
C T HAUSUAT TART: 7 Hafd

D Syt yafa

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 22 "s=Rrenl B o |l weg: UG 7. Rigraw fagivar ada?

A FpariGrad
B HifesyaRgR
C ARG
D lbaaiigrae

Correct Ans : B
Subject : Sanskrit Bhasha 02

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

8/62
Page - 8



Q.No: 23 73 a1 WY ¥ A a1 afedn: ge: TG &l | &1e: a1 geHl: TS| a1 $¥ DI Jia PRI?

A
B
C

D

ELEEARIGIS)
LLECaRG]
R IRIE
TSR A

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 24 3reRay MR SR HsTemaiderr & aliter Suant vaq ?

A
B
C
D

e’ 319 O vged U A g
W W@ AR e td darg forag
Wufsqamiaan: &a: A firag
yaa: gy Thw T 9eq |

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 25 BHEIUN Fdl THIH HFASIFAREN (teaching learning material) g 3ieIcy & Taifdd Hgwayguiq ?

A
B
Cc
D

1 Il St geid®T 7 I |

a1 el B 19 Pt @ |

7 Il TeHigEe YA TR 9 Yulasaur IuaiT: ik |
grtqfquUat TaT: S Sualer: Hadq |

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 26 Tu=<f @RI AH--

A
B
Cc
D

T G: SITHeQ SAThRUN SITRTHA |
A UM FIH SR T8 3f g
TWIHI T HTNTT: SETERONY FUTUT TReT: Ul o FeaH QW e
YT TR o rm= 3 el wo=r: faery vmifa

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 27 "Hdd-cAIIe-HeAlgTH' - gl "D 3id Ygul OFRY glafdprarid Jaf faguiiid |

A
B
C
D

GERIUCas)
Qeifrp-Teafremar:
RIS

R G|

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 28 T: FdY Sy WawH ¥

oAb

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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o 0O W

AT

THagauHt
ﬂ%’lﬁ“@'ﬂ?:
AHagHt

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 29 3™ AFE: (Criteria) 3R -

A
B
C
D

THTTUI- 3 -faaRom
BH-GEII-TH
A -SUBRUIA

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 30 =nferl Uew Yeaewd gay <f¥ Migmia) wd a1 f& aifq 2

A
B
C
D

RO Siaciia Bt
TR s B
afarE S
Rl srawor HRf

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 31 1Y &I UIG-Yddb | AbHdl BI RIF ol

A
B
Cc
D

T B 78 ol

RIRT T fafe F 7

YR 1 GRpiae ARvare & uRkia 89 & Aeg F=ar gl
w= B dia-sliaes UgH & fog Faw g smg

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 32 e freror ot o fafdy 7t -

A
B
C
D

WS fafy
3T fafy
3y fafer
<y fafdy

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 33 NI & SNYRYT HIA-

A
B
C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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D

Sic: 9 -G Gid Gl

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 34 3R e vd ve-Riere sl 7 fe=d) Rigre &1 anf <2 U =7e) gian @

A
B
C
D

BRI g Tadt
TR ver Teeh

IS FARY FAaRor daeht
B el TTafaar Gat

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 35 H&T H ISRV IRId YUY SHLIP Ugd Siddl ¢ 3R 9 I9P §1¢ aidd 8, of 39 fafyy &7

A
B
C
D

agea Rfy
fgepRul fafd
e fafy
e fafd

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 36 'UT8 ToHT TR PR JUY SMaWH g r sop fufes _ wwarg
A U1y I BT 3T

B Lo EpiCIREIT|

c e Gl B gl

D 1" I BT B

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 37 yraa¥ ¥ ferw fg=fl uren &1 A1 Tad uget e & § e ggmar ure

A
B
C
D

HeTHIEH Hiedia
TeTe it 3
i Rig 3

Td Ham A

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 = & § HH-UI TP 3= UId-YKIb! &1 01 gl o?

A
B
C
D

I SrFugIl
Faa aridd
Faq erddl
Faq pHEG

Correct Ans : A

Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 39 Weafld WR TR SATHIN 101 &} aloRad Jomet o1 g2

A
B
Cc
D

FHATT YOIt
UIed T Wolel!
SRTA-FRTH gomreit
HTST ST yomedt

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 40 it ydieror &) fagagfiadr Rt oifvs gidi 8, IUP! dudr I+ &t ?

A
B
C
D

SfmaH
R

BH
YA T4 HH

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 41 “HIY] T S & IR 3TPT I 3nar R R wvar 871 i & v sy 82

A
B
C
D

S foars

UeE®

PR

o e ok PR

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 42 A7 9 Rieu 32 82

A
B
c
D

e drgar &1 e
T i &1 fdw
FeuA1 e o fapr
R faffma &1 e

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 43 by WIsg B 'Y’ IUAT BT TN g3l 52

A
B

C
D

W
ool

o

e

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 44 Hefl & ANg sgHIiwar-

A
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B HYI-Re07 & T Jame F wU H e 8 Il gl
C HTST-Rref0r & S g1

D T B TET U W & R gaeed Bl 31
Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

i R AT T TR $1 UgH U@ U URAl & 9ad IRd SR N fddbed BT 997 Hiferg-

SR Siia=-{0f0r &7 Jaws 31 31ged Td H: 999 &t U foHT SR Inid 51 7ol 0 # g5 A0S ardl Ad! & T 81 SRINe savas
&Y, Ugd o & UAS & H 3UD! SMAIHd g, dle Afad &1 S g1, TS a1 ¢ HT| iR oita off o e 7, R iRk g vd o gaan
B 5 81 e & Feas H SFRA-fagH gia) i fareht off TR ¥ SoRaR 76T 81 1| W SilaH o Uphfa &1 3T §, e sfae & ag gy
IR e Ut 3, forass ashara ¥ fiRT 98 AR silies U@ @l 8, 98 Yo ol U o= & 9ol § oIk Ue Rifdret 31 wifa wra &1 o
SR B! Rrent St 81 g I U YT SR 1 Sfdd &l g1 ‘§FH foFT 7 S Ul I9d UPhia B1 391 SFRINH-Tl Bt 3R Hbvd Bl
B ST wreg o1 oY § forelt was =i, s, faw sryar g o1 sifard & 9 uren1 afe safad srom sitae B wfaga Ffda Fawl e sgeRo
gt @l Sita § ot Sea aeg a1 &R ot wife T8 R ahdl| SR & R a8 St 718l o 1S g safeky e R aren 81 SR g9 9%
Feffxa Famct o1 o w31 T SR @ SR SR g, S foedt safad a1 1 &t Jandt o7 ddbd ol o | W= G T Jeal g a8
B, S R F R F e g ® iR AR ft WesT | ITBT Ura HRd g

Q.No: 45 IUGH TR & SUR, a7 Bl FE&T B I TGS $T =M § & o=

A Fdl gUFT §
B frmuuE 8
C wH gyH §
D s gy 3

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e R faT T TRy $Y UgHR U U URAl & Had IR SR ardl fddbed BT 997 Hifeig-

SR SiiaA-ffor &7 Tes 31 $iged Ud : 999 &t Wity fomT SR Twd g1 -1e1 1 0y # g5 a1 gt Aa! & T 8 SFRINe Smavad
Y, Ugd - & Udd & H FUD! SMaIhdl g, dlg Afad bl ol g1, TS a1 Ie¢ HI| iR oita off o e 7, s iRk g ud day gadn
B B 21 e F FEa § SIEA-fagH gia) S foell ot TR ¥ S T8l 81 Fhall AMd Siiad o Udbfa &1 S 7, s sfaa o ag g
IR ooy urar 3, forad Iwara § fiv1 a8 fAffR sidie urd a1 8, a8 Upla o te org=mas & e § SR U Riféret 31 wifq #Fa &1 o
SR Y e 2t B1 B Tp T M SR 1 3Had BRal 81§ 91 7 Urar Iad Ui B 3t SuIRH-sedl B SR Thd B!
T SR et &1 o ¢ fobell T <, o=, Fom spuat famdoun &1 eifard &0 ¥ urer| 3fe safa oo Sitas & sfaug [Ridd el &1 s
Tt Fan| Sfiad # sl S=a aed a1 &g @t Wiy T8l FR Johdll SR & Y 98 SRl 7ol [ B18 gl Ao W $HR aTdll g SR gH 39P
Freiia Fromol o1 urem &% 1 T SR df SR SFERmaE 81T, S [t safad a1 <=1 &t [ardt &7 Yoba Hedl ¢ Wi ¥ F a1 SR 98
7, S At & fa & e giar € oiR Al off WesT § ST Uiad $7d Bl

Q.No: 46 fm=fifad & & Aa aeg &t WKy & SrwadT &1 W[ HRU 347 82

A AT Frawt &1 SrgeRor 7 &
B HHUGIA 7 G

c e & RO & SriorTar

D A3 Pt &1 SrgeRr X

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/62
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fAden: A 3T TU TR @ UgeR U@ U URAT & 9ad 3fd Sk aN fadbed &l 99 Bifore-

SR SHa-FH{0r T Jaes g1 SI¥jed Ud : 909 3T Ui foeT SR qeid g1 7811 oy T g @ a1l 9! & g 81 SR e
T, URId Sita- & Ud® & H D! SAGRAHBdI 3, IS e BT Siig- g, Fa a1 I H7| iR sfiae ot O e 8, o Rk g ud Joy 9aar
Bl Edr g1 e & e § SFIRH-fagH gia oiFr fdlt o TR & Sava el 1 ATl A silg- forg Udpfa &1 o 3, e siaa & ag gmor
IR farg urar &, forad Tpara ¥ fivr a8 [affR sl U a1 8, 96 UPia Wl Uo o= & et § SR U Riférept & wifa A o1 o
SR Bt e St 81 g T U YT SR BT S &l ¢ | ‘§PH 871 7 S Ul I TPid DI 38 SFRIA-Tsell Bt SR v Bl
B SRR reg &1 o ¢ foelt U =, oist, Fam spuar Framdoun &1 sifard ®u ¥ urer | 3 safda siom sitas o sfqug Ffda el &1 SR
el Fean| sitgd ¥ [t I=a e a1 €19 31 Wil 61 R GhaTl SR & Y 98 SResl Tel b $13 guT i X1 &= arell 8l SiR 81 I4d
FreiRa Famel &1 urem H31 U1 SR d SR SERE g1, S ol safad a1 <=1 &t el &7 Gavd el ¢ WA S T 9ol SR 98
g, o TR & fed & fore giar g iR i it W<s1 | 39T Ui &-d ¢

Q.No: 47 Iqfad Teiimr & Tl & TS F forw uspla &) RiféreT safe wo1mn g, ®ifvag

A T SR BT Sfac Het 8
B AT B SR et Rt 81
C Ui TR SO UTeH-UIN0T el g1
D TG B SR P eg 2

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= AR 3T U TR B UgeR R T URAl & I Sfud Sk il fadwed &1 9ge Siferg-

SRR Siig-fAH{or & gues §1 3rged ud 7 9w &) wifty faer SR Iwa &t =21 0y ¥ g wie aral et & oy &€ S siawas
a1, Ugd Sfta & Ul 8F T US| ATl 8, dle i oI i g, THIe! a1 I &7| iR St ot Ot o= 8, o AR g we o g
Bl Edl ¢ e & Peaa T SFRIH-fAgH I il fbd! ot ThR I J9% el gl AdhaT| AMa Silg- forg Upfd 1 o §, e siaa & ag g
IR fawr rar g, R awara ¥ kT 98 faffR srelie U axal 8, 98 Uaia off U SR & gad § ok e Rifére ot wifa ama &1 of
SR @1 e et §1 Bg Ih U FMIT3a SRR &1 Siad &l 8| '§PY 91 7 e ITar’ I UHid i 3901 SFRINA-Sadl $i 3R Hdbd Bl
B SRR a5 &1 o ¢ fonell U =1, s, Fam spuar oo &1 sifard ®u ¥ urer| afe safda orom sitas & sfaug [fda Ml &1 sgeRo
Tt @l SitaA § ot S=a deq a1 & & Wiftd 51 ) Gapdl| SR & R U8 St 718} S I gy safad e o= aren €1 SR g9 Su%
Fuiia Fomct &1 urem w31 T SR o IR srRmae ghm, i fardt safa ar = ot emdt &1 Gava wval g1 = 1 B e oeRae 98
g, S ARt & fa & e €11 § ok Al Wt WesT | ST UieiF $Rd B

Q.No: 48 f=fafad # § BH-1 Yse [ -Tf o1 981 Iemerur 82

A qungf
B iEd
C S&R
D T

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

g R foT 7 TN B UgHR IR U URAl & 9ad IR SR ardl fdded BT 997 Hiferg-

SR SHa-[H10T BT Jaed g1 3¥ed Td : 909 3T I {1 SR Ieda 8t et 0yl ¥ g e ardl Ifah! & o g SR Siia=a
eI, Ud Sl & TS &F T 3UD! Maqhdl 8, dlg Hiad Pl it g, Tl A1 I &1 | iR g f ff o= 8, ToRd Ak g td o aaar
B B 81 e F P H SFRIA-fagH i) S foel! ot TR ¥ SR 1ol 81 9Tl A4 Siad o Udfa &1 S 8, s sfaa o ag g
AR Iy urar 3, e Ishara ¥ forT a8 fafiR selles wrd oxar 8, 98 Ui o T SRivH § gadt § ok Ue Rifdesr ot wifa ara & oft
SR @1 e et §1 6g I U T SRR &7 Siady ol 81 '§HH AT 7 o ITar I Uhid Bt 3 SFIRIA-Sadl $I 3R Hdbd Bl
81 SR wreg 1 oY § bl was =i, i, AW styar faaor &1 sifard & 9 ureH | 3 safad srom sitas B wfaqa Ffda Fawl @1 sgeRe
gt x| SitaA § bt Sea e a1 &R & wifed 5 R Gabdl| SR & RU a8 Sl 181 6 1S gOT safeky e _A arenl 81 SR g9 9%
e ol &1 urem o)1 T SR @ SR SERIaE g1, S forddt Jafad a1 =1 &t et &7 Gdba Heal ¢l W 1 & Teal SR 98
2, o TRT & Rq & g g @ SR Amies ot WesT ¥ ITHT Ui Id 7
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Q.No: 49 AN & T&Ad: fbem 0 g2

A IR
B &

C 11}
D BT

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e FR R 7T TN B ugeR T T Ul $ Yo SR IaR 9 [eed @1 wgT Siv-

SR SiigA-fafor &7 g 81 engey wd [ 999 ot wifty famm s awia g 7611 oy # g s ard AT & e &) SR savas
a1, U St & Ul 8F H D! ATl 8, dle i I siia- g, THTel a1 I 7| iR St Wt ot p=ad 8, o Rk g wd duy g
T BT 31 Shad & o § SFRINH-TAgH Iy oA fdhdt o ToR ¥ JaRa To! ol Iodl| AMd Siad o Upid &1 347 3, s ofga § ag divor
IR fawr rar g, e awara ¥ okt 98 faffR sielie U a1 8, 98 Uafa off U SR § 9ot § ok e Rifére ot uifa ama &1 of
SR 1 e <t B1 Bg 9h T MY SRINH &7 S &-al ¢ | “§HH 971 7 Sa uIar 3o Ui o 33 SRINH-gdl 3 3R Jdhd Bl
B SR 2reg o1 oY § fobelt ua =i, i, AW syt faaenr @1 sifard & 9 ureH | afe safad srom sitae # wfaua Ffda Fawl o srgeRe
gt @l Sitaq § ot I=a de a1 & & Wiftd 5T ) Yabdl| SR & [T a8 Sl 181 o IS a1 sAfad I $_A arell 81 3R §F S9%
iR Fomct &1 urem w31 T SR df IR srRmae grm, i fadt safe ar 2=t @t emdt &1 Gava vl g1 e 1 B Sean oeRae 98
&, S ARt & fd & o gian 8 oIk ARe +ft Weer ¥ 39eT ued 7 B

Q.No: 50 Fmfaf@d & & SH-91 Tse YT BT WA B S1a1 747 82

A SUHE
B SITCIGS
C S{TEROT
D SMECE]

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

e - T 7T T S UgHR U T URAT & qad SfUd SRk ald faded BT 9o Hiferg-

SR SHaA-{H101 BT gaed g1 el Ud : 909 3T Ui fomT SR awid &1 et 0y ¥ g5 ae a1 IFa! & T 8 SR e
T2, URId Sitad & Ud® & H 3BT SAIRAHdT 7, I G BT SaH g, T a1 I H1| o offae +ft O e 8, ord iR g vd Juy aeran
B 5 B Siad F Fead H SFNA-fagH gib) i i ot TR ¥ SR Te! 81 Tl A Siad o Udid &1 ST 8, e sfaa o ag g
AR 9T uran 8, e Isvara ¥ forT a8 fafiR sielles wid ol 8, 98 Ui o T SRRINH § gad § 9k Ue Rifder 3t wifa ara &1 oft
SFRE 1 e St 31 Bq I U MY SR BT 3ad HRal g1 "§HH 91 7 g UIar Iad Upia B 38 SIRH-Gdl 3 SR Tobd Bl
B ST e Bl o § bl U Wi, s, T sryar Rawdour o1 sifard U ¥ urer) afe safad oim Sftas § sfauy RAfda fFaat 1 R
et | Sita= § bt I=a deg a1 &) & Wiftd 5 R Gabdl| SR & RU 98 S 7181 o IS gOT safeky W A arell 81 3R gF 3%
fAuffea Famc 1 uraa HY 1 T SRR df SRt SrRa g1, S fhddt cafa a1 32 Bt Tand 37 Udha BRal g1 W 3 H e SRR 98
2, S TRe! ¥ fd ¥ o giar € ok R® +ft WesT | U@ Ui IR B

Q.No: 51 Iuert Tl & Hef # S B BT 997 Hifore-

A e =1 H WA SR 98 §, S ARRS! & fyd & o g 3 oIk A +ff et & SueT ured T8 d 3
B SR g, &1 orf § fareft v e, omram, fRaw sruar aeor &1 sifard T § e

o TR F T 95 S T} b IS guRT Al X = aren ot 3R g Sud uia Fawt &1 urem &

D SR SHae-FRoTT0T FT Yei 81 31ged Ud = 90w 3t wifte famm SR g 8t =gl
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Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

fdr: i f4u 7 TR & UgaR Uw T URAl & e Sfd SR ard fdded T 9ae Bifort-

SR SiiaA-ffor &7 Tews 81 3nged Ud f: 90 ot Uity fomT SR Iwid g1 1811 R0y # g5 de gt Sa! & T & SFRIne savas
T3, Ugd o & Udd & H FUD! SMARIHd g, dlg Afad &I ol g1, TS a1 Ie¢ HI| iR oita off ot e 7, s iRk g ud day gadn
B a1 31 Sfad & e § SRReH-fagH giaw Sir freht ot R & Javaw 18T 1 Wepall A4 Sita forg Uepfa &1 o 8, e siaa & g gy
3R faera urar 8, e asvara ¥ forT a8 fafiR sielles v axar §, 98 wopfa o U SR & et € SR Ue Rifdesr 3t yifa ara & ot
SR Bt e it 81 g Ih U YT SR $1 Siad &l gl ‘§PH o1 7 S Urar I TP $i T SRIIA-Tell Bt 3R v Bl
T SR et &1 o § fobell T <, o=, fem spuar famdoun &1 eifard &0 € urer | 3fe safd oo Sitas & sfaug [Ridd el &1 sgeRu
Tel Fean| Sitgd ¥ fadt =g e a1 g &) Wit TET R qHaTl SRR & T U8 SRes) el [ $IE guRT SAfdd XA R arenl 8 SR 89 9B
i ool o1 urem o3| T SR d SR SR 81T, S ot safad a1 <=1 &t [t &7 Yoba Hedl ¢ Wi ¥ F Teal SR 98

g, o TRt & fed & forw giar € iR i+t Wes1 | 39T Ui &-d gl

Q.No: 52 I TR & SFIAR, W = & Teal SFIRMGA I8 8,5

A o ReT ¥ fga & g Fiar § W ARRS WesT ¥ I9HT ureH el B 7

B S TR & ey & fore giar 3 SR AT +f Wee § Su@T UM #Ra &
c S Re! % R & g S & SR TRe o Voo I 39T Ure FRa B

D S R ¥ SR F R ST § W AR o Va1 ¥ ITHT Urad el B B

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

SR P B Ugdx U T URA! P Gy Sfd Iak aid [ddbed &I 994 Sifore-

e faT ufrdt 7 o weT A,
Sa?

S1d T 7§ PHCT?

AT 98 3, O Sl g,
@ v g |

T eg, i a8 B Sicil g2
IR TR AHWRT 4R T,

T g Ay g8

TasR A 3R,
TER-e R Bewd! B,
faufera - fer-uht &1

U1q - Y el g1

S fod et 7 off o o,
g

ufert 3 @ fan

8T ¥ 99 W ¢ 99- 909 ) §,
galel & 99 R 8 79w W@ 7,

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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fhT 51 o ¥ |, fad gl § -
THARY T- 7Y R - R - X el
YR SIS TR TH T,

g9 R R §]

e T UK B,

I TS T

Q.No: 53 TIferdl & 74 U & 3M1d &7

A B Bg 4
B Tags §
C Jaay &
D RRR#

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

ST ST B UgdHR UL T U=l & U IFUd IR aId fadbed B 997 Hifore-

T fo7 ufedl A+ Pt o,

STa?

ST # 1 § HHIT?

HHT 95 SN, ! Siel B,

@i yyE g |

T Yeg Wi 98 P aell 82
qfehT 89 X - B TR il €,
TR TR AHWRT R |,

T R g

TR AR,
FER-Fe R TR &,
fqufcrd - fera-u=it &1

1T - 1Y &XH 3

T ot gt A off @t o,

BIRCIE

gferdt = 1 o

e ¥ 99 | ¢ 99- 994 Q@ 3,
g1l F 90 R & HIa A R,
A g1 o0 ¥ T, Fad 3l & -
FARI - T R - W - ) Bt
YIRT F SR FAR T TN ¢,

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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TH W SR ¢
e G S ¢,
oIS HEBIS ¢

Q.No: 54 ! 3 Uil ®1 IUe & PIF-1 1 Tgl PgI?

A TN T wgd e §
B ofwdi ¥ @ o &2

€ A 51 H FPbT | TEH B
D J&f I T UG Bt B

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e BT &l UgHR IR T U & Ged IMd IR aId fAded BT 99 Hifor-
& fo ufemt 7 off &gt o,

STa?

ST H T § HART?

AT 98 SN, B! Sl g,

@ g g

T Teg, i a8 B aiell 82

IR WR THWRT R T,

T e T g8

TaER H 3R,
TER-Fe i Bt B,
fauferd - fer-uit o1

UTT - 1Y gell B

T o gl 3 ot FeT o,

gfar?

gfrt = @1 fa

8T ¥ 99 W ¢ 99- 909 @) T,
TSl ¥ 99 R & 799 [ R,
Afp 50 oo A |, fed ol § -
FAN AY- T R - W - R Bt g,
YR Y SR SR T M 3,

g9 R R

HeB G UK B,

I T &
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Q.No: 55 g 3! faRwar o1 7t 82

A o R
B el & ofa 9 faeme §
c WWEATHEAE

D oI} & R FrATER0T GO g S 3

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

A P Bl UgHR U T YR & Ted 3T I<R a1 ey o1 997 Sifore-
e o ufcrt 7 oft @

STa?

S1e & o1 § HEwe?

HT 98 G, gl Siell €,

@ g g

& e W 98 Pt Al g2
AT 89 X - B TR Bl ¢,
TR TR AHRT ARt 8,
TR G

TR A R,
TER-Te R Bewd 8,
faufera - fera-uit o1

U1g - Y gl g1

& {37 wal 7 ot war

gfeaf?

gfrdt = w1 b

TN & 99 | ¢ 99- 999 W 8,
TSN F 90 R & H9a W R,
Afp g1 30 F T, e %l § -
FART - T R - Q- WAl
YA SIS TR TH M T,

g9 TR R g

el G U T,

oIS HETS 6

Q.No: 56 "fauferd" wreg &1 THHRY wes § -
A PR

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/62
Page - 19



B ™
c a1 gl
D TG

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

IS Pregie Bl U G T Ul & Fed I Ik d1el fdebed 1 99+ ifeig-
U fo ufdt A o wer

STar?

19 & 1 § HAT?

AT 98 S, I sl g,

@ gy g 8

T et +f a8 I dielt 82

Afth BH B - B TR Bl €,
TER TR IR 4R,
TR g

TagR 3R,
TER-Fe i Bed! 8,
fauferd - fer-usdt &1

U1g - Y el g1

T {7 el 7 ot o o,

gfRmt?

ot A @1 fean

e & §0 W 8 99 909 Wl ¢,
Tl F 90 W & HIa F R,
Afp 9 o A T, R Bl © -
FARI AY- T R - W - WAl g,
YA SR GHR TH M 3,

g9 R &R &

D! G UK €,

WS qEPTS g

Q.No: 57 "Gl &1 TaIar e B!
A "=

B et

C TR

D TR

Correct Ans : A
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Subject : Hindi Bhasha 01

Passage:

& Praar B uge P T IR S 999 IFd Saik a1t fased 1 T Siferg-
& o ufcrdt 7 oft @

STa?

319 & o1 § HHI?

HT 98 g, gl Sl €,

@i gy gihar 4

& e Hi 98 i At 37

Al BH B - B R Bl €,
TR TR AR AR €,
TR

TR AR,
TER-e R BExd ¢,
fauferd - fera-uit o1

U1q - &Y gl g1

TP o el 3 ot @ o,

gfwf?

gferdt = o1 foban

N & 99 | ¢ 99- 999 Q@ 8,
FAST F 90 R & T H R,
AT 5 o & Wa, o Bl € -
BRI TR- 7Y R - X - & il g,
YART 3 3R TR T Y

&9 TR SR )

o] G U1 T,

SIS GETE ¢

Q.No: 58 'qifh B &R - g TR Hdl §1" UieT & DIF-11 bR g2

A TSP 3TPR
B 3IIN 3R
C Y SAPR
D JUAT 3EPR

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
SR ST B UgdhR UL T URAl & G IFad IR aIdl f[ddbed BT 99+ Diforg-

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/62
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U f&1 ufcrdl A +ff et o,

STaT?

ST H /T § HHCT?

HI 98 S, FHI Sl ©,

@ uuE g 8

% e i 78 P ol 87

TR TR FERRT 4R T,

T T g8

TR H 3R,
TBR-Fe R Bedl 8,
fauferd - fer-uit o1

U1q - Y Bl g

U f& el 7 oft e o,
gRmf?

gt = @ fean

I & 99 | ¢ 99- 99 G S,
Falel & 99 R & 799 W@ B,
A 71 o & Wa, o Bl € -
TAR I9- T X - X - R et B,
YRR Y SIS TR [ T 3,

&4 W §RIT €1

Gew! G U1 ¢,

g YETS g

Q.No: 59 3G T~ PI ITT Px -

A T
B 3T
c R
D TR

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 60 A= # § yrifiie TR R Ae--a1d1 & deu H afftre Agaygo

A Hiferes TR
B gar
C EGEl]

D T+l Td gerad

Correct Ans : A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Subject : Hindi Bhasha 01

Q.No: 61 What should come in place of the question mark (?) in the following question?
2466946

g 2 17
—+—+17+—=?
17 19 19

Fafafed uy & weaee g (?) & RIF R |1 {F J1igE?

8
18—
17
Correct Ans : D

Subject : Mathematics

Q.No: 62  What should come in place of the question mark (?) in the following question?

2466969
368 +4 +372-261=7
Fofaied uy & weaes fag () & R_IM WR 1 A 9IigE?
368 ~+4 +372-261 =7
216
A
216
212
B
212
(o 203
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 23/62
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203
207

207
Correct Ans : C

Subject : Mathematics

Q.No: 63 A number is doubled and 9 is added. If the resultant is tripled, it becomes 75. What is that number?
2467096

T T HY ST [ et § 8iR 9 SiieT ol 31 afe uRkomy & & 71 3 fean S, o @ 75 € o 8| 98 TRew a1 82

6
A
6
3.5
B
3.5
8
Cc
8
7
D
7

Correct Ans : C

Subject : Mathematics

Q.No: 64 The average age of Kalika, Atul and Shivam is 22 years and the ratio of their agesis 1 : 3 : 7, then find the age of
2467366 ghjvam in years.

PIIPT, S SR Rrad Bt 3NGd IH 20 9 ¢ T 3D I BT SFEUN 1 : 3 : 7 §, al a9 3t 39 auf § F1a Hifore|

10
A

10

15
B

15

42
(o

42

40
D

40
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Correct Ans : C

Subject : Mathematics

Q.No: 65 The ratio of present ages between A and B is 2 : 5. After 8 years the ratio of ages will be 1 : 2. Find the difference in
2467397 thejr present ages.

A TUT B & T IHT 31 $T SFJUId 2 @ 5 €1 8 IY UYId 1Y BT 3 1 : 2 81 A I qadH 341G | e J1d Hiforg|

14
A

14

16
B

16

21
C

21

24
D

24

Correct Ans : D

Subject : Mathematics

Q.No: 66 Find the ratio of 720 ml to 2 litres.

2467415

720 fireft § 2 Wfiex &1 Srgurd J1d HiforT

9:5
A

9:5

80:1
B

80:1

9:25
(o

9:25

80: 25
D

80: 25

Correct Ans : C

Subject : Mathematics

Q.No: 67 A wire is bent into the form of square of side 27.5 cm. It is straightened and then bent into the shape of circle. What is
2467509 the radius of the circle so formed?
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T IR HY 27.5 Yt Yo arat avf & SR & Wit 1 315X e fasan oirar € ik R 90 & omeR # Mis f3ar Siiar 81 39 UeR &9 9a
31 e @1 g2

14 cm

14 3

17.5cm

17.5 9+t
21.5 cm

21.5 9+t

19 cm

19 9+t

Correct Ans : B

Subject : Mathematics

Q.No: 68 The areas of two isosceles triangles with the same vertical angles are in the ratio 25 : 49. What is the ratio of their
2467624 4jtitudes?

A HeaftR DI a1 &1 JHGaIg FYSl F AFhal BT ST 25 : 49 gl 3P SRl BT U F 82

5:7
A

5:7

25:49
B

25:49

5:14
C

5:14

7:5
D

7:5

Correct Ans : A

Subject : Mathematics

Q.No: 69 The ratio of length and width of a rectangular field is 2 : 1 and its area is 72 square meters. What is the length of the
2467646 fic|d?

TF RAHR HGH ST dals 3R DISTS B UM 2 : 1 8 3R 3UST &% 72 I Hiex g1 HaH &1 darg fha- g2

24 m
A
24 4t
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B 12 m

12 7t

6m
C

6 1t

8 m
D

st

Correct Ans : B

Subject : Mathematics

Q.No: 70
2467922 Jﬁ + 6 ++/6 + - will be equal to:

\/6 +/6+ 6+ B IRER AT

$23
A
G273
6
B
6
%
C
3
3
D
3

Correct Ans : D

Subject : Mathematics

Q.No: 71 The sum of angles of right angled triangle is:
2468065

TADI Y F BV BT IR §:

00e

00e

B 1202
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120e

60
C

60e

180°
D

180e

Correct Ans : D

Subject : Mathematics

Q.No: 72 In the figure below, if s < 50° < t, then:
2468166

A
t< 80
s+t< 130
B
§+t<130
30<t<8§0
C
0<t<80
t=80
D
t= 80

Correct Ans : D

Subject : Mathematics

24'\";%27038 Three angles of a quadrilateral measure 58°, 63° and 173° respectively. The measure of the fourth angle
G
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TP IGHS P I SHITT B AT HAE: 58°, 63° AR 173° 1 T BT HTAM B

58°
A

58°

727
B

72°

66°
C

66°

62°
D

62°

Correct Ans : C

Subject : Mathematics

Q.No: 74 Which among the following is not an example of the universal nature of mathematics?
2468454

fofifad & ¥ o9 7a 3 Fdfie Ueid BT T Il Te 82

Calculating molecular weights of organic compound

A
FEME AfE & SHUfdEs YR B T0HT
Calculation of agricultural production per unit area
B
ol 551 & H B e F oA
Find the speed of sound
c
& BT T I ST
None of the given options
D

fou e fasedt A ¥ B T
Correct Ans : D

Subject : Mathematics

Q.No: 75 Which is not true about lesson plan?
2468597

IR F A IS W & IR § DI T HYF I8! Ta] 372

A It helps in orderly delivery to content
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I8 T B IRy w0 4 faRka #39 # 7o S @
It is developed by students

B

75 BTl gRT R far g

It develops confidence in teacher
C

75 e & g Rl sxar &

It saves from haphazard teaching
D

Ig Sereiial fRigfor & e 3

Correct Ans : B

Subject : Mathematics

Q.No: 76 In a mathematics classroom emphasis is placed on

2468612
o fofea & 4 fora &1 wan # e R 99 faar o 82
mathematical content process and reasoning
A
TR S ufthar ok aF
problem solving strategies
B
FHET GAYH 0Fiar
mathematical algorithm and process
C
TR TR iR ufhar
mathematical content
D

TR arEft
Correct Ans : A

Subject : Mathematics

Q.No: 77 Calculate the ratio of 600 g to 6500 mg.

2469689
600 I ¥ 6500 fIR{UM &1 SUrd J1d Hifog |
65: 6
A
65:6
1200: 13
B
1200: 13
C 1200: 17
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1200:17
6: 65

6: 65
Correct Ans : B

Subject : Mathematics

Q.No: 78  Tfthe polynomials p(x) = 2%+ bx?+ 3x — 5 and q(x) = x* + x2— 4% — b leave the same remainder when
2469914 divided by (x — 2), then b is equal to:

¢ T8 p(x) = 26+ bl + 3x— 5 AR () =+ x2—4x— b, (x - 2) ¥ [TUIRIT B TR TR

Uhd BISd g, dl b S o
-3
A
-3
5
-13
s
B
-13
)
5
3
C
5
3
5
13
D
13

Correct Ans : B

Subject : Mathematics

Q.No: 79 Which methods makes Remediation?

2475502
FH-R faftrat Faro s §2
Lecture method
A SR fafy
Source method
° i f
Supervised study
¢ e srera
D Question answer
UH S

Correct Ans : C
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Subject : Mathematics

Q.No: 80 The activities done in a maths lab can be helpful in:
2475546

o vETRIen | &1 ST arelt fafaftrl 3uH Were 8 gl 8

formative assessment

A
ITHD b
summative assessment
B
YRIFRN Hedics
both the above
C
SR
chopsing students for olympiad
0 3fieiftrars & g BHET S g

Correct Ans : A

Subject : Mathematics

Q.No: 81 Triangular relation exist between which of the three terms?
2475632

BYSTeR Jdy I F 9 59 ue F 99 g 82

Measurement, Aim, Objective
Y, 98, I

Aim, Objective, Learning Experience

e, Ioxd, ST U

Objective, Learning Experience, Evaluation Procedure
I, T Srgd, i Ufshar

Aim, Objective, Evaluation.

Ed, S5, Yediad

Correct Ans : C

Cc

D

Subject : Mathematics

Q.No: 82 Evaluation in mathematics is necessary because

2475634
T B Hedid e § i
A to diagnose children’s weakness and strength for further instructions
3R & PR & Ry o= 3 FHOIRT SIR AHa &1 e Fe & g
It helps in employment of teachers
B
7% Riel & AR & Hag Bl §
c It consumes time
I THY I §

help pupils to compete with each others

D Rrenieiat B U oo O vyl e § Hag B
Correct Ans : A

Subject : Mathematics

Q.No: 83 Rashid is studying in class V. He can classify various types of triangles in different categories but has difficulty in
2476021 understanding the abstract proof for the sum of three angles in a triangle to be always 180. According to Piaget

Cognitive Theory, Rashid is at
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RIE Fe&m v T Ug 6T ¢ 98 Al gbR & Hryell &1 fafte 3 & avffed o) gear § afea Biyst & i S10i &1 9r 8= 180 89
% o sl ywToT @ wHeR # HfeArs gl 71 ramie Seee Rigid & ofuR, IRE R E

Pre-operational stage

A d-Tere =R
Concrete operational stage
® FehIc TRETeH =00
Formal operational stage
© Soeie R <Rl
D Sgnsorimotor stage
TR

Correct Ans : B

Subject : Mathematics

Q.No: 84 A teacher prompts the students to prepare mathematical journal with the theme “Application of Mathematics in daily
2476025 |ife

This activity is

T g fAeniidl &1 e sias & 7o &1 sy favg & 9y Iy uiEeT R & & g ORd Far g1
Ig T ¥

to help students to connect mathematical concepts and its applications and to share their knowledge and
ideas

TforT srauRome 3R IUP SIIVENT B Sie SR SUH I SR faRY 3 Aren w7 ¥ SHl 3t Uag I & R

to test the students understanding of mathematical concepts

B TR SYRUNST B BEI &1 THS BT G0 HI & o TR srayRUmST & SEl &1 THS BT TE0 H & g
to provide opportunity to students share their ideas and knowledge
BHEl B S [FERY SR T B WIS B BT 3G YEH IR & g

to help students to sense of Mathematics

b BHI B T B T HaE B B RIY
Correct Ans : A

Subject : Mathematics

Q.No: 85 Learners should not be encouraged to

2481355
Rignfiai oY viicied el far st =fee
participate in as many co-curricular activities as possible
A sffes 3 ffes - TR & o 4 ¥ g
memorize all the answers to questions which the teacher may ask
° R R L T B P e e
c ask as many questions as possible both inside and outside the class

P F 3feR R TR 3 I 4w e g3 F R

actively interact with other learners in group work

b TR P o i & W Wbd ©U I a1 $ B R

Correct Ans : B

Subject : Mathematics
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Q.No: 86 Students. who bring out alternative solutions and cite the books not prescribed by the teacher should be -
2481424

dpicad FHIYF FoTar ard SR Rigd gR1 MufRd =761 31 1S Yas! &1 garen < a1 @1 &I g1 91fed -

discouraged
g e

encouraged
B mﬁ

advised to talk to the teacher outside the class
¢ Fe & TR &P T 910 FA B ag &

advised to follow the class notes to score better in the examinations

D THiETaN & geR TR B & RN I e $T Ure HR B T8 & aH
Correct Ans : B

Subject : Mathematics

Q.No: 87 Which one of the following is the principle of curriculum construction?

2482372
fafafed o 9 oiF-u1 uregaf o o1 Rigid 82
principles of child centeredness
A
o Figaar & Rrgia
Curriculum should be static
B
ureTEal fRR B Tl
Curriculum should be related to everybody life
C
ureTTal & 5t & SieT @ It S g
D curriculum should be well integrated
UIGThH 3T TRE d TPHIPHd ol Ay

Correct Ans : A

Subject : Mathematics

Q.No: 88 In norm referenced test the comparison is between?

2482530
THS daiid wieor § ga feae da g 82
A Groups
e
B Individuals
c é\;eas
D Interest

Correct Ans : B

Subject : Mathematics

Q.No: 89 According to Bloom'’s revised taxonomy, the cognitive objective that can be achieved through the following task “Prepare
2482638 ; powerpoint presentation on contribution of Indian mathematicians.” Is
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= B GG ariferr & SoFuR, YIS 3= oy Fafafad orf & mem 3w fBar S addar 8 "YRA TG & dveF R

Te UTeRUTSe WRfd daR 1" §

A Creating
ol DAl

B Understanding
Analyzing

C
farerwor

D Remembering
ROT G

Correct Ans : A

Subject : Mathematics

Q.No: 90 At primary stage, which method for teaching of writing is useful?

2482841
MU TR R e RIE0 & g $H-3 afy Sudd 82
French method
A Fa Rl
Kindergarten method
° T
Play way method
- AR
D All of the given option
faw e ot fawed

Correct Ans : D

Subject : Mathematics

Q.No: 91 The spot called 'cold desert' of our nation is:

2469530
TAR O 1 'S AORIT oA ara VM g
Leh
A
g
Ladakh
B
SEuc
Kashmir
C
PR
Manali
D
AT

Correct Ans : B

Subject : Environmental Study

Q.No: 92 What is the nature of traditional Hindu family
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2470052

RIREIET g URAR ST WY {54 UHR &1 Ul-

Joint family

A
HgH IRaR
Disintegrated family
B
faufed ufkar
Extended family
G
fowqa ufker
Common family
D

IR URaR

Correct Ans : A

Subject : Environmental Study

Q.No: 93 Growth of algae can be controlled by
2470200

Sara Bt g P 3 o gedt §

Chlorination

TG

Aeration

ARG AR

Filtration

e

Bleaching

e
Correct Ans : A

Subject : Environmental Study

Q.No: 94 What materials were used for making African Savanna’s building?

2470555
TBID] THT BT ARG §9H & o b1 Al o1 Juan fasan mar ur?
Cement

A
e

B Wood
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el

mud bricks
(o

fagt et e

Ice blocks
D

b D

Correct Ans : C

Subject : Environmental Study

Q.No: 95 Poor hair hygiene could cause dandruff and skin infections such as;
2470648

Tl B TR WSdl 9§ w4 3R @@ § YhHur g1 Yebdl § Wi,

Cellulitis
A

Hegarsfed

Furuncles
B

Py

Tinea capitis
(o

fefar Hiufew

Erysipelas
D

TR

Correct Ans : C

Subject : Environmental Study

Q.No: 96 Fluoride pollution causes fluorosis in;

2472103
TARIZS TG0 § TRIRAT $T HROT &1 §;
Lungs
A
BHS
Heart
B
G4
Teeth
Cc
aid
D Kidney
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fepel

Correct Ans : C

Subject : Environmental Study

Q.No: 97 The presence of the El Nino leads to an

2472229

31t <IIF1 B IR Tp Bl SR o SiIehl ©

increase in sea-surface temperatures
A

g $I 948 & a9 | gfS

decrease in sea-surface temperature
B

Y% B 9ag & a9 J HH

does not affect the sea-surface temperature
C

YU 1 Tag P AIIHH B YU TE Bl §

increases trade wind in the region
D

&9 H R a1 9e 1 &
Correct Ans : A

Subject : Environmental Study

Q.No: 98 Which one of the following is not a fact regarding South India?
2472244

Fafafed & § oF w1t e YR & Yy T v 9 T8 32

Diurnal range of temperature is less here.

A
It 3 qTUEH IR 8 Bl 7
Annual range of temperature is less here
B
I51 A AU TR SH BT §
Temperatures here are high throughout the year
c
Tg1 BT AHM e 4R P Tgl ¥
Extreme climatic conditions are found here
D

Correct Ans : D

Subject : Environmental Study

Q.No: 99 Lead chromate is a common adulterant found in
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2472819

WS P IHd: foad fiade & v & urn S 8-

Water
A

LIS

Soft drinks
B

Tiad U

Turmeric
C

Sl

oil
D

GGl

Correct Ans : C

Subject : Environmental Study

Q.No: 100 Iodized salt is used for the prevention of which disease?

2472909
RIS o TS $T W 5 St ot Japum & fere faan Srar 8 2
Beri-Beri

A
-3
Rickets

B
frare
Goitre

Cc
TCRTUS (HE )
Scurvy

D
Al

Correct Ans : C

Subject : Environmental Study

Q.No: 101 1In which year was the ISRO brought under the Department of Science?
2473877

TR B fage faumT (Feurddic offts WIEw) & Sicria fose aef amar mam o412
1970

1970
B 1972
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1972

1975
C

1975

1978
D

1978

Correct Ans : B

Subject : Environmental Study

Q.No: 102 Which of the following programmes was first carried out by in India?

2473881
FrafaRed o 3 o1 A1 SR Fot Uga HRA H e T AT
SITE (Satellite Instructional Television Experiment)
A
HIST (S SFICIHD eefifarsr Tieon)
STEP (Satellite Telecommunication Experiments Project)
B
WY (ITME IR Gerr gRZIerT)
KCP (Kheda Communications Project)
c
.9 (W1 YaR ufdier)
INSAT (Indian National Satellite System)
D

T (YR JFTI SUTE W)

Correct Ans : A

Subject : Environmental Study

Q.No: 103 In which year China plans to send its first crewed mission to Mars?

2473985
I g I HTe TR SIUHT Uge AMGgad AR A5 B G & Y81 82
2033
A
2033
2087
B
2087
2022
c
2022
D 2025
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2025
Correct Ans : A

Subject : Environmental Study

Q.No: 104 Which of the following soils is mainly composed of organic material in their upper portion?
2475682

Fafiiad & ¥ o @ g 981 T9 9 307 S o | Prefies gardf § &0 §?

Gelisols
A

Sfergied

histosols
B

e

Andisols
C

LRI

spodosols
D

BSITIG]

Correct Ans : B

Subject : Environmental Study

Q.No: 105 Which of the following is not an area covered under National Seeds Policy, 2002?

2475936
FafelEd # 9 319 91 &3 g diw Aifd, 2002 & siarid Iuld -1et 82
variety development
A
fafaean faera
plant variety protection
B
i ot fafdera TReor
seed production
c
st Jae
seed study
D
oS sremae

Correct Ans : D

Subject : Environmental Study

Q.No: 106 Which wicketkeeper has the most number of dismissals in ODI?
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2476543
g fapediR 7 AR TH-fiadiy fhde F Jot sarel AR HA (Eaftge) ardt fabesdin 82

MS Dhoni
A

TH.TY. i

Adam Gilchrist
B

TeH b

Kumar Sangakara
(o

PUR TR

Mark Boucher
D

% R8T
Correct Ans : C

Subject : Environmental Study

Q.No: 107 What is the contribution of the horticulture sector in agriculture Gross Value Added (GVA) in the Indian economy?
2476622

URA srforawn & $Y & god Ieg aftfd (Shdie) & arer &8 & 1 arreH 82

33%
A

33%

14%
B

14%

55%
C

55%

86%
D

86%

Correct Ans : A

Subject : Environmental Study

Q.No: 108 Which of the following is the best skill set for students to interpret and help them in
2477144

making reports?

frafafed & @ @9 o1 36 $ fau aren H7 3R RO §9M & 376! A H1 & e Tad 3/ HIvd e 82

A Read graph and map correctly.
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TF IR WHFE B Tel &7 J UgA

Study through source method

B

i fafd & s »%

Develop skills of making questionnaire
C

THIGe S99 BT IR [IHRIT

Record the observation/data/ information correctly and systematically.
D

adic/SeT/GE B e &7 ¥ 3R R ¥4 I Rl Hm

Correct Ans : D

Subject : Environmental Study

Q.No: 109 Which of the following are the characteristics of work?
2477228
1.it is considered difficult

2.it is never imposed by others

fFofoiad § @ o19-1d o1 &1 faRya] 872
1. U8 AP W STl &

2. 8 &RI gRT Bt =1t Ay ofrr @
only 1

FHad 1
only 2

Faq 2

both 1 and 2

T 18R 2

neither 1 nor 2

TA1RAH 2

Correct Ans : A

Subject : Environmental Study

Q.No: 110 Mark the limitation of project method.

2477233
URErSH {3y &1 Hien 1 fafgd a3
Difficult to formulate

A
1§ e

B Requires unqualified teachers
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3T el P MaTgHdr ¥

Requires huge number of teachers

TS Yo | et #Y avadd §

Does not require teachers at all

fRrerpt 3 faepa ot smawamar e &
Correct Ans : A

Subject : Environmental Study

Q.No: 111 Every discussion is goal oriented From the perspective of a teacher, this statement means:
2477296

& g aeagdl gl ¥ U e & DI Y, 39 HY &1 31 B

Make report card of the class after discussing it with students

A
BE A T B el Bl RUIE B8 1Y
It has educational purpose linked to the subject
B
1 AMeF Ied v J o gen ¥
Disrespect the opinion of a student
c
B B I BT 3G BT
To give marks to the participants after discussing it with them
D

Uit § =t TRP I 8 &
Correct Ans : B

Subject : Environmental Study

Q.No: 112 As a teacher, you are encouraged to use a variety of teaching-learning methods -

2477372
TP e $ FUH, AUy faftre Rreor-siitrm fIfr o1 S w9 F fow iented o e @ -
As different children have different preference for learning styles
A
Y SeT- el sl B SR Bt Dl F AT Sre1-31erT Wrufsany gt §
As children demand so
B
e T W AT HA §
As our law says so
C
4 Ig THRT I el &
D As all children have similar preference
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e Tt 7= Bt adgar I St §

Correct Ans : A

Subject : Environmental Study

Q.No: 113 Which one of these is not a prohibited activity in national parks?

2477801
T & B g SR e R T 82
Plantation

A
&R
Grazing

B
Bl
Poaching

©
3y RHR
Photography

D
WIET®!

Correct Ans : D

Subject : Environmental Study

Q.No: 114 Which of the following does not lead to an increase in greenhouse gases in the atmosphere?
2477877

frfiRad o 9 319 ardraRel § WHerey 41§ gl 16l Xl 82

Deforestation

A

A

Burning of fossil fuels
B

Sharee $o BT STe

Increase in population
c

SToen | s

Heavy rains
D

HRY SR

Correct Ans : D

Subject : Environmental Study

Q.No: 115 Which of the following is considered as a man-made ecosystem?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 45/62
Page - 45



2477959

Fafirad 7 9 fbd e Rifa aRfRfdes! & A S 82

Mountains
A
RSt
Ocean
B
HENIFR
Estuary
G
Jegd
Crop field
D
W &

Correct Ans : D

Subject : Environmental Study

Q.No: 116 Which of the following phenomenon converts nitrogen into oxides of nitrogen?

2478052
fafied o @ 19 @ g1 AZeeH 3l AReoH & sHiaugs & uRafid i 82
Greenhouse effect

A
A RRSH T
Lightning

B
forsreft
Oceans

c
HENIFR
Raining

D
SR

Correct Ans : B

Subject : Environmental Study

Q.No: 117 Consider the following features of a particular gas -
2478056

1. It is a reddish-brown gas with pungent smell.

2. It indirectly causes acid-rain.

Which of the following gases is being talked about?

% fadiy T &t Fefafed fadvarst w fGaR S -
1. I8 TG 7Y aTelt Ara-4X T B 9 gl

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 46/62
Page - 46



2. U8 R ¥Y ¥ 3[d-a9 B SR §dT &
Fafafed & 9 59 79 S R F 919 3F o W /2

S02
A

502

NGOz
B

NO2

CFC
C

CFC

503
D

503

Correct Ans : B

Subject : Environmental Study

Q.No: 118 In CCE, it has been observed that there is over-emphasis on -

2478485
M dmmmefz_ 0 wewie safarsmarg -
Assessment of Learning
A
TR 1 3Teber
Assessment on Learning
B
e W Hhe
Assessment as Learning
C
Hies & wU H e
Assessment for Learning
D

draq & fore sneer
Correct Ans : A

Subject : Environmental Study

Q.No: 119 Attributes such as attitudes, motives, interests, and other personality traits etc. are the examples of which of the
2478712 to|lowing?

sfigforl, Sgxa, Bfeal SR o wfaaa demn o S T Fafafad & § fad Iemeu 82

A Evaluation in the cognitive domain
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WS &7 H Hedich

Evaluation in the affective domain

B

HIaTHS &7 | Teaid

Evaluation in the psychomotor domain
C

TR H Yedic

Evaluation in the non-cognitive domain
D

R-TFHIETS SH | geaia
Correct Ans : B

Subject : Environmental Study

Q.No: 120 Which of the following is based on the collected evidences, determines the standard met and the levels of success or
2478734 tajlure in meeting these standards?

fufafad # Q@ $F Tshid Wedl W S1eid g, S AF®! B O Ixdl § 3R 39 TG B T & § Tohadl a1 [awad & wR o
iR ®ear 82

Evaluation

A

Assessment
S{The

Measurement

Tests

wRieor

Correct Ans : A

Subject : Environmental Study

Q.No: 121 The period of early childhood begins :-

2473589
Ud ST BT 3G URY Bt @ :-
from birth to 2 years
A
THY 2 T
from 2 weeks to 2 years
B
2 g 4 2 99
C from 2 month to 2 years
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2AR ¥ 2 af

from 2 years to 6 years

29§ d 69y

Correct Ans : D

Subject : Child Developement

Q.No: 122 Remedial teaching as part of formative assessment means

2474300
TS BT & 3= & U H IUARTHS A BT 34 §
extra coaching by parents
A
Ara-frar gr1 erfafker ifd
teaching for gifted students
B
SFHTYRYT B! & T Sreame
diagnosing and addressing gaps in learning
C
Rrgror Bt HT BT gaT T SR S R A
teaching beyond the textbooks
D

IS G| & ST S{eATI
Correct Ans : C

Subject : Child Developement

Q.No: 123 Regarding the relative effects of heredity and environment on intelligence, which of the following statements is false?
2474644

§fe W aRimdr SR wafarur & Irde yuEl & Iy §, Fafifea § § oF-u1 3T s 72

Heredity seems to exert a strong influence on specific abilities, but not on general intelligence

A
U AT W1 © & engafiepar ARk emareil R e Aoy wHE Siad 8, AT a9 w® e
Studies indicate that heritability of intelligence is around 50 percent
B
el § Gobd firern § 7 9fg @Y sirgafrwar @ 50 wfasia §
The main environmental influences on intelligence seem to occur early in life
Cc
T el B © & 98 W gor waiaoia puE e S IRH A S B §
Intelligence is a good example of a case of quantitative trait
D

S AT ARV & TS BT UE ST SRR §

Correct Ans : A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 49/62
Page - 49



Subject : Child Developement

Q.No: 124 The two characteristics in which a behavior can be termed as normal or problem are its
2475370

i. frequency

il. intensity

ili. distraction

iv. counter productiveness

Tt &) faQwartd M suaeR B 9 a1 SRR & U § UgdHl o 9adl 3
i, Mg

ii. ciferar

iii. SHaal

iv. BIde Ursfaefact

i, i, iii, iv

i, ii, iii, iv

i, i, iii

i, ii, iii

i, i

i, 1

i, iv
i, iv

Correct Ans : C

Subject : Child Developement

Q.No: 125 As a child grows the perception of a child is influenced by

2476269
S-S T 9edl ], I 31 yRon 79 ¥ uvifad gt @
personal factors
A
SR PRS
social factors
B
TS TRIRUf
cultural factors
C
Fi&pldd PRS
D environmental factors
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TAERUIY HRE

Correct Ans : D

Subject : Child Developement

Q.No: 126 “Thought not only determines language, but also precedes it” was the idea put forwarded by
2476363

TR 71 Rt v o1 Fefiva Fxar 8, 9fcr ST ugd of Bia1 3" I8 f9uR fhud gR1 uRga fasar T ot

Jean Piaget

A
o st
Kohlberg
B
Hieet
Vygotsky
(o
Clegics)
Pavlov
D
LICGIC]

Correct Ans : C

Subject : Child Developement

Q.No: 127 The process of learning is affected by what?

2476367
IRe 1 vishan fad yHIiad gl 82
Physical health
A
RIS e
Mental health
B
AR WA
Desire of learning
c
Tie i T
All of the given options
D

e @ Wit fapey

Correct Ans : D

Subject : Child Developement

Q.No: 128 Eight-year-old Kavita has a mental age of ten. What is her intelligence quotient?
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2476703

315 U Hidal B AHRS 1Y a9 a¥ g1 IBT gl HFTHd T 32

125
A

125

100
B

100

80
C

80

Cannot determine from the information provided
D

UeH @ 8 wFeERt 9 Fuffka 78 e gwa

Correct Ans : A

Subject : Child Developement

Q.No: 129 Developing a more broad-minded attitude towards social reforms among the rural folk is an example of
2476867 goals:

artor @t 3 wrTors URT & Ufd i e e fasia e ed PT T I&IE g

short term

Y 3afy

long term

Serfafy

societal

S

personal

HfRmTd

Correct Ans : C

Subject : Child Developement

Q.No: 130 A child in his initial years learns the traits of a criminal life. Who out of the following is the most at fault here?
2476893

T 5= 30 YRS I 7 MRifees Sfiad & @emn Faar 31 FHufifed § 9 gl Ie9 1 3y fouer g2

The teachers

fRigre
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B 1ne ramily

IRER

The child himself
C

= g

The society
D

qHTST
Correct Ans : B

Subject : Child Developement

Q.No: 131 Which of the following is the characteristic of the Gifted child?

2477571
Fafifed # ¥ oF-@ vfavmeh 5= 3 fadvd 82
Rest oriented
A
SR 39
Low aspiration for prodigious job
B
faaemr Tt & R B4 sepian
Less motivation for physical activities
C
RIS Tfafafddt % g %w Jron
Analytic perceptual ability
D

fORAYUTAS SGURUTHS &
Correct Ans : D

Subject : Child Developement

Q.No: 132 As per the NCRB (National Crime Records Bureau) data of 2020, which state had the highest cases of murders by
2477746 jyuveniles in the year 20207

2020 & TR, (TP Uiy Repls &) & 3fibs! $ FAR, Iy 2020 H fobw oy # 2R gR1 g & Faffs Awd 32

Madhya Pradesh

A
HATGR
Assam
B
S H
C Gujarat
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BICGE

Karnataka

PAlch

Correct Ans : A

Subject : Child Developement

Q.No: 133 The services of is/are required to help in the process of education of some of the children in the
2478093 jnclusive education system.

i) Physiotherapists
i) Occupational therapists

Choose the correct code

Joraslt e yunel § o I @ RiaT Bt ufbar ¥ Aeg F F fRig ST arsfi B I gt g
i) s fafeas
i) aai® fafeds

gl DS I
i) only

i) ¥ad

if) only

ii) Faq
Both i) and ii)

i) @R i) S

Neither i) nor ii)
Fd i) T ii)

Correct Ans : C

Subject : Child Developement

Q.No: 134 which of the following is NOT a characteristic of the talented children?

2478353
frafafed # 9 s yfovrel =i ot fagvar 781 82
They are always good at all the activities they do.
A
7 3ot It Tfafar & gHE 3/ B 8
They are very sensitive towards their talent
B
T 3o it & i Sga WaeRi g §
C They never hesitate to perform their talent
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3 SRt ferdT 1 Ve A ¥ it e e
They talk and behave confidently

3 SHRIY ¥ 917 IR TR P ©

Correct Ans : A

Subject : Child Developement

Q.No: 135 Who among the following defined Environment as "The environment is everything that affects the individual except his
2478884 genes™?

Fofafed & I fowm TafaRor o 39 YeR aRUIRd far o "gaiae afdd & I I SIgar 94 $9 UHIfdd oxdr 82

Lawrence Kohlberg

A
ARY PrEaaT
Weld Archives
B
IS REITR
Robert S. Woodworth
C
e 78 goaf
Jean William Fritz Piaget
D

Sit faferrs fbest foarst

Correct Ans : B

Subject : Child Developement

Q.No: 136 Which of the following is not one of the three aspects of Cooley’s theory on Socialisation?
2478916

fofifEd & 9 B Fariexe R ol & Rigia & @ uggsi § 9 ve 76l 82

How we appear to others

A
T g 31 B Rwd ¥
How others think or perceive us
B
T T8 A Ora 1 I §
Self-feeling
C
STH HIGT
Adolescence ego
D
PRI SEHR
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Correct Ans : D

Subject : Child Developement

Q.No: 137 Rohan is an eight years old son of Mr. Vikram. If Mr. Vikram is promoted in his job, this will have a positive effect on
2478936 Rohan as he will now be provided with better facilities. This is an example of which of the following layers of
Bronfenbrenner’s Ecological System?

A ot fasm &1 9 Y &1 g 31 Al A sy 31 It i) T Siad faar Sirdn 8, dF SUST e R SRS YHIG TS Rl 33
3 JER AUy UeH & el U8 SitherR & UiRfRfde @ @ 5 & 9 fid Rd &7 3ererur g2

Chronosystem
A

PHIREH

Microsystem
B

G IEEa I

Mesosystem
C

AReH

Exosystem
D

THIRReH

Correct Ans : D

Subject : Child Developement

Q.No: 138 The activity of is that of thinking about whether something has a moral attribute.
2479285

@I Tl gg Wae o1 ¢ fob bt =i F Aifde 0 ¢

Moral Sensitivity

A
e HaeTRier
Moral Judgement
B
e Fofa
Moral Action
c
A BRAR
Moral Memory
D

Ao wfa
Correct Ans : B

Subject : Child Developement

Q.No: 139 According to the multi-factor theory, the content based on action of people represents which of the following?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 56/62
Page - 56



2479746

TE-PRS NGId F AR, AN B fobar W snenRa fawdesg (dee) Fafafad & § fawe ufafida w=dt g2

Visual ability

A
T i
Semantic ability
B
REARIG )
Behavioral ability
C
TR ATl
Auditory ability
D

yqui-Haet i
Correct Ans : C

Subject : Child Developement

Q.No: 140 According to the Multiple Intelligence theory of Gardner, which of the following means the ability to appreciate one's
2479770 natural surroundings and includes appreciation of all animals, plants and other natural environment?

MR F g-Ffa & Risid F aR, Fufafed & § feusr o ¢ SE & Uieiae URa ST W1 S &1 drgan (Ueferd) $ik
a8 gt ST, Melf SR o Wipfad aTaraRun &t IR1g-T AMfAE g2

Naturalistic Intelligence

A
uiplas gfs (Faeiifes sefisi)
Interpersonal Intelligence

B
st~ 3 (Soereia geferst)
Intra-personal intelligence

c
Siqaafae gie (Sgmria 2fRs)
Existential Intelligence

D

iTa® e (TR $femia)

Correct Ans : A

Subject : Child Developement

Q.No: 141 Which of the following is a stage of Erikson’s theory?
2479873

fafitad # 3 oF e ® Rigid o1 1@ R0 82

Autonomy v. Shame and doubt

Wl 9 T iR IeE
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B Trust v. interest

fayra s SO

Rich v. poor

R §9W TRi§

Industrial v. de-industrial

e s R-siefie
Correct Ans : A
Subject : Child Developement

Q.No: 142 The earliest explanations of motivation relied on the concept of

2479925
SIFATROT &t URMAG e &Y S@uRom R 1R a3
Need
A
I CRUGTI|
Instinct
B
qa v
Want
C
ed
Affiliation
D
GELES

Correct Ans : B

Subject : Child Developement

Q.No: 143 comes from having to choose between two positives and desirable alternatives.
2479958

e 3 e aur 3¥ el § 9 U &1 999 S usdl & O %5 e gl

Approach-approach conflict

A
IUNH-JURH 65
Avoidance-avoidance conflict

B
URER- URER &
Approach-avoidance conflict

c
JUMH-URER &8
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D Approach-Frustration conflict

Correct Ans : A

Subject : Child Developement

Q.No: 144 Which teaching continuum should be followed to help a student to develop a habit of learning alphabets?
2480143

o faendf & quiaren dien 31 ened @I Jefa o & o fog R graa &1 giem foar s afge?

Conditioning

A
SrIReH
Training
B
AR
Instruction
C
fdw
Indoctrination
D

TR

Correct Ans : A

Subject : Child Developement

Q.No: 145 The development tasks of a child who is of 11 years of age don't include

2480216
11 99 1 g & g5 & faprd &b Hraf F Wd TeT -
Development of conscience
A
faae &1 fasr
Learning to get along with the age mates
B
I & WAl F WY B FET
Development of loyalty towards the group
c
g & vfa fgr &1 fdore
Development of a sense of one's own identity
D

WY P UG B G BT A6
Correct Ans : D

Subject : Child Developement
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Q.No: 146 The IQ of the child who has the ability to take up the role of a problem solver is

2480233
T GHIYHS $1 YHHT U BT &dd @7 a1 = 61 1Q g gl
140
A
140
120
B
120
110
C
110
135
D
135

Correct Ans : A

Subject : Child Developement

Q.No: 147 Which among the following is not a measurement to measure a growth of a child?
2480634

o d A oH Ot 5= & o™ & 71 & e Aueus T8 82

Weight
A

qe

Height
B

el

Learning
(o

e

Eruption of teeth
D

gl &1 A
Correct Ans : C

Subject : Child Developement

Q.No: 148 Which of the following child psychologists focus on child-centred education?
2480716

e # Q 59 mRTHe 3 99-$ied Rer ) o S e ur?

Skinner

IR

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 60/62
Page - 60



B Eric Erickson

R Ul
Paviov
C
LICEIC)
John Dewey
D

[CIE kS
Correct Ans : D

Subject : Child Developement

Q.No: 149 is known as the father of progressive education
2480867

P wifaRiia Rren & fOrar & ¥ § S S 8

John Dewey

A

i St

Froebel
B

wie

Rousseau
C

w4

Habort
D

e

Correct Ans : A

Subject : Child Developement

Q.No: 150 Creativity is the sign of ?
2480902

FEEIREC) P 4Phd

Creative children

A
TS T
Intelligent children
B
giear w=
Behavioral children
C

TagING I
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D Attitude children

THel g
Correct Ans : A

Subject : Child Developement
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